

Penthouse in Qrendi



Qrendi, South



€510,000

Reference No: 240461057-273

 Total Rooms: **9**

 Floor Area (m²): **155**

 Bathrooms: **3**

 Bedrooms: **3**

Penthouse - For Sale - Qrendi

Qrendi - Penthouse - A conveniently located penthouse in Qrendi, close to all amenities. The property layout consists of an open-plan kitchen, living, and dining area leading onto a spacious terrace with space for a pool, 3 bedrooms (two of which have en-suite showers), a box room, and a main bathroom. The property is freehold and will be sold in shell form. Construction up to shell form is expected to be completed by December 2027, while the completion of the common parts is scheduled for October 2028. For more information or to arrange a viewing, please contact us.

Features

- ✓ Terrace
- ✓ Balcony
- ✓ Air Space
- ✓ Roof Terrace

Rooms

- ✓ Kitchen/Living/Dining : 8.87 x 3.71 m (32.91 m²)
- ✓ Double Bedroom : 2.85 x 3.15 m (8.98 m²)
- ✓ Double Bedroom : 3 x 3.2 m (9.6 m²)
- ✓ Double Bedroom : 3.88 x 3.84 m (14.9 m²)
- ✓ Walk In Wardrobe : 2.61 x 1.95 m (5.09 m²)
- ✓ Box Room : 2.87 x 1 m (2.87 m²)
- ✓ Hallway : 3.55 x 1.25 m (4.44 m²)
- ✓ Bathroom : 2.87 x 1.5 m (4.3 m²)
- ✓ Shower Ensuite : 2.8 x 1.62 m (4.54 m²)
- ✓ Shower Ensuite : 2.38 x 1.22 m (2.91 m²)
- ✓ Open Space : 11.87 x 3.15 m (37.39 m²)

Gallery







Alex Calleja

RE/MAX Professionals - Mosta

M: 99838927

E: alexc@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta